
13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 1

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 2

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 3

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 4

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 5

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 6

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 7

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 8

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 9

September 13, 2013



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 10

September 13, 2013

IRONLABOR

S



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 11

September 13, 2013

Vit C
Vit D

Vit E

S



13c_Notes_M166H_LinProg.notebook

(c) Janice L. Epstein 12

September 13, 2013

wood

glue
paint

S

Vertex R=175x + 400y
(0, 0) 0
(0, 30) 12,000
(50, 20) 16,750
(70, 10) 16,250
(75, 0) 13,125

Make 50 small and 20 large frames
for a max profit of $16,750.

Any leftovers? What was used?

1(50) + 5(20) = 150 units of wood
1(50) + 2(20) = 90 units of paint
2(20) + 1(50) = 120 units of paint

All the wood and glue was used.  
There were 30 units of paint 
leftover.
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Vertex P = 30x + 40y

(0, 0)

(0, 250)

(120, 160)

(200, 0)
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Vertex C = 0.2x + .15y

(0, 26)

(8, 0)

(4.8, 1.6)

(27/13, 68/13)
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